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invigilator in the Examination Hall.

. We-UF 90 AT aTel U WeeA-giEde &1 WAl il 3cck & & fv v 3l

MNuE3R M Iy a0 T T
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Enter your Name and Roll Number correctly in the OMR answer sheet.

fafea wlier ug & fav AuiRa deaar & 3rur W ar 3cad & @ aEdfase
gehR I gl eTd & Fdel U 3cal AT §7 ¥ @Er gl

The written test will be of objective type based on the qualification prescribed for the
post with four answers indicated, of which only one will unambiguously correct.

3T 3ce’ g A U 71w el & @R AR Scak gaeh # HAOT HSTHR
el T T §U HET 3} T T Y|

You have to select the right answer by marking the corresponding oval on the OMR
answer sheet as per the instructions given in the OMR answer sheet.
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Correct answer carry one (1) mark each; Zero (0) for no answer and minus zero point
twenty five (-0.25) for a wrong answer.
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Multiple answers for a question will be regarded as a wrong answer.
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Space available in the Question Booklet can be used for rough work, if required. No
separate sheet will be provided.
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On completion of the test, (1) hand over Written Test Call Letters with photograph
pasted on it (2) tear the OMR answer sheet along the perforation mark at the top and

hand over the original OMR answer sheet to the invigilator and retain the duplicate
copy with you
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SIFCEAe - B (Hihfaiehel) & ug ¢ @ wlia
Written Test for Draughtsman - B (Mechanical)

gesT Ud shildh DM/20001-A Question Paper No. : DM/20001-A
Hgedd 90T : a0 Maximum Marks : 90

Agcad 3rafe 1.5 "er Maximum Duration 1.5 hours
e Ieay faf@w . Write the correct Answer:

1.
1.

A AT Fr efie & 3TTH &
Area of AOD size sheet is:

a 1 m a/b 100 cm?

wc 0.5 m? gd 50 cm?

TR M FudEs, SEsEy . @arg |

Addendum is than dedendum in spur gear.

3fa 931/ greater b Bl smaller

#ic  UFH AW/ equal 3/d zo0 ¥ us #ff g1 None of above

el (5) Setehl A eng @

Brass is the alloy of these:

Hla Cu & Zn d/b Cu & Pb
&/c  Cu & Sn g/d Cu & Ag
4. TFH 93 H I &
4. Thread angle of acme thread is:
3a  29° d/b 55°
&fc  60° g/d 30°
5. 30 mm fsar (Raw) vd 60 mm RAdE Fu (Fie gise) drer oF & ¥ o7 (TIFE W) &
B, Apex angleof cone having 30 mm radius and 60 mm slant edge is:
da  60° a/b 45°
Hc  90° 3/d 30°
yera ol weoT 7, Wee o, ferder @r & AT SIT ¢ |
6. In first angle projection, front view is made the reference line.

3fa FUY / above

d/b AT /below

AFgd fedeasd  edwaRdsEd . aF@dd|

In Ay size sheet
the width.

3/a 12, 8 /b
e 9,6 5/d

BIS & [, Toed &

According to BIS
3/a 18 a/b
&hic 16 g/d

zones are along the length while

16, 14
20, 16

@ @) RA R
~grades of tolerances are given.
24

12

zones are along
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10.
10.

11.
11.

12.
12.

13.
13.

14,
14.

15.
15.

16.
16.

1L
17.

AutoCAD #, ®AES & 39T A 3nAEE [FT IR e Sl qERfST ar ar urieid

garr 3INFA deat A oRr Shar § |

In AutoCAD, command is used to fill the drawn component by predefined or user
drawn pattern.

3fa &9/ hatch /b SI#A /| zoom

Flc Tl | scale gd @18 / line

AutoCAD &, 3INT@T 1T & AT Hl FA &l & T

In AutoCAD, we can reduce the size of object using command.
3/a  Tha / scale a/b &/ trim

d/c  S[H / zoom s/d oliga / line

BA 98 &T &IT §:

The angle of BA thread is:

Ha  60° g/b 29°

&/c  55° g/d 30°

399 AT e T WA F awEd & Fed € |

The difference between upper limit and lower limit is :

da  HIe / Fit g/b  3fQuenT (fagee) / Deviation
F/c  SRHTAA (dA19)/ Dimension g/d  el=d / Tolerance

zad il MY o A1 A o ST Srar § |

Double helical gear is also known as this name.

3d/a V& [ Rack /b gREEET / Herringbone
&lc  gfdedd / Helix z/d @i /Worm

efie e &1 Al (RFAd) A9 & AT 3@ At &1 398 gar ¢ |

This gauge is used to measure the thickness of sheet metal.
3/a &9/ Snap /b 3 / Depth
F/c G / Wire g/d &9 / Slip

dPR & TR T A1 AT gar g

Sum of four angles of square is:

3l/a 90° d/b 180°

&/c 360° s/d 270°

~ Ahd H AJAT ¢

<~is the symbol of:

dfa  GAJA / Flatness /b AT / Parallelism
#®/c  @ddr / Perpendicularity g/d I H13¢ / Run Out

5040.02 19 & o 398 AT &

For the dimension 50 +0.02, uper limit is:

3fa  50.02 /b 50.002
Hic 52 3/d 50.2

2 DM/20001-A
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18. @ fhe 3 AW FT U9, 1 (D) & O ¥ AT gdr § |
18. In this fit, shaft diameter is more than hole diameter.
3t/a  eifarers /Transition a/b wellui=d/Clearance
®lc  SchEE/ Interference g/d 34 & ¥/ Al of above

19. MR A, A PCD & gid &1 dear & uilcd¥ &l Hed &

19. In gear, ratio of PCD to No. of teeth is known as:
3/a ;qmlm = [Circular Pitch  &/b  U©8sH / Addendum
dic  &88A / Dedendum s/d  HZgel / Module

20. Hed T 5 H oY yraury & U3 F 9T & A N dgd &

20. In multi start thread the distance between two adjacent threadsis known as:
Hla  gleera/ Helix d/b olig / Lead
Flc T / Pitch g/d STHcdH U / Minor Diameter
21. sin 30° = :
Ala  1AN2 @b 12
wc  \3/2 sd 1

22.  uid % UG AU HT Ao ¥ 38 < A uRafda far s wehdr & |

22. Metals can be converted in sheets due to this property.
3tla  sfFefdl/ Ductility /b AferAfafadr 1 Malleability
®/c  Thad / Toughness s/d  gsa¥ / Hardness

23. Ol i 5EE §
23. The unit of density is:

3ita  gm/cm?® a/b  kg/m®
@wlc  gm/m? g/d =z & @Y All of Above
24, 1 kg = g13g (Lb) |
24, 1 kg = _pound (Lb).
da 0.2 /b 0.22
FHc 2.2 g/d 1.4
25.  LPe— FIOfi GEITOT &I e AT § |
25. ; | indicates angle projection.
3/a YJF{?&O /Fourth b gfad™ /Second
&lc.  darg [Third d.s. YA / First
26. 15 HIghld = mm
26 15 micron = mm.
da  0.015 aib 15000
Fc 15 g/d 1.5
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27.
27

28.
28,

29.
29.

30.
30.

31.
31.

32.
32.

33.
33.

34.
34.

35.
35.

36.
36.

37.
3.

Zfawe 2rer @ el T (VaTel) g

The cutting angle of twist drill is:

3fa
h/c

118°
108°

d/b
5/d

138°
98°

da e eI M 12mm §a R &

In three start thread, if lead is 12 mm then pitch is:

3/a
Cle

o 398 drAr +0.15 mm3tR et @A -0.05 mm g, a9 ges 9 elked 0.2 mm g ¢ |
When upper deviation is +0.15 mm and lower deviation is -0.05 mm, than the tolerance on
the part is 0.2 mm.

3M/a

4 mm
6 mm

el / True

d/b
3/d

d/b

3 mm

12 mm

ITeld [ False

10 cm fsTrare Tiehit T 9RATT 30 cm g |

The perimeter of a square with 10 cm side is 30 cm.

31/a

Wire can be drawn from metal due to the property called ductility.

Tt UTER B aorg Bur A A AR (AR) i @ ¢ |

3/a

o R TEUS A9e & AU @y Felay &1 39T o g addr ¢ |

Vernier caliper can also be used to measure depth of hole.

3i/a

Jed (Thel) & N & A argst &1 3l gar ¢ |

Tgr / True

gt / True

Her / True

d/b

d/b

d/b

Divider is used for drawing circle.

3/a

AN &1 1T 210 mm x 297 mmg |

Ter / True

/b

I7eld / False

Ield / False

ITeld / False

ITeld / False

Size of A4 sheet is 210 mm x 257 mm.

IH/a

ARG yala & ReoT el (SR Thet) @1 39AT Il § |

agr / True

d/b

eld / False

Diagonal scale is used for isometric projections.

Hla

el / True

d/b

Iedd / False

AutoCAD #, T &l S19Tg d&ell & ol #g (move) H#AS &1 39T EIell ¢ |

In AutoCAD, We can change the place of the component using move command.

3i/a

HESTH & T & FUREY Nb (FFaR) 88 ard dlee &l 39A19T gdr § |

Square headed bolts are mostly used as fasteners.

3/a

wer / True

Tar /! True

q/b

/b

Ield / False

aTeld / False
4

DM/20001-A



38.  wgedH WaAT R T WA & & F IR B o (3e3ed) hed |
38. Difference between upper limit and lower limit is known as allowance.
3fa @/ True d/b  dTeld / False

39. VI, ArEfEer fERar garT gied gss qitsaior & fAder #d § |
39. Symbol of VVV gives the surface finish obtained by grinding.
a  T@er/ True d/b  9red / False

40. T (gTen) IR yomelr #F 398 Reer g § |
40. In hole basis system the Upper deviation is zero.
Ja  GEr/ True g/b  Ieid / False

41, T RO 9aiqor 7 SR gTY T URd ¥ (A9 §3 WIgS &), WHAW ¥ (Wee <) & il 3R

FATIT SATAT § |
41. In third angle projection, left hand side view is drawn on right side ofthe front view.
Hla  wer / True d/b  Ied / False

42. —P~J— EOHT Tbhd &

42. —I>J—5s the symbol of
H/a U IC dred /Angle gate valve /b A¥ dred / Safety valve
@/c. U IAllg dled /Angle globe valve d./s. W% dared / Check valve

43.  AutoCAD &, fafay ARG ufa, sa8 @ #ia @ fawer & ug ardr §7

43. In AutoCAD, various settings conditions can be found from following section
3i/a Yol 3131 He[ &R /Pull down menu bar gb 3 vRAT /drawing area
@lc.  Wellfear go aR /Floating tool bar d/s. ¥TH 9N /Status Bar

44. a9 ¢ B gy i ggfar 7 AR Moo &g & et 7 far ST ¢ |

44. In this co-ordinate method, the distance is given with reference to previous point.
3fa  f9ET /Absolute /b WY& /drawing area
Ffc.  gdra /Polar dis  F9¢ @3 o1 |/ All the above

45.  TTR&HS @ g (Fhel) rel@e & o, ugel RFHST wHg ol 9gar §

45. When TTR command is used to draw circle, first we have to select
3/a  Feg /Centre /b f3sar /Radius
F/c. eMH/Diameter dig g8 U U #T 787 / None of above

46. @it € #ifAfaR SnaIOIeRar & o 3maR g Sl el g7

46. Which-of the following geometric characteristics do not require datum surface?
3Ala  HHJ /Flatness d/b of#<dl /Perpedicularity
Ffc. T 313 /Run out d/is  @Iofiar / Angularity

47. C. & gerar gm/em® & §:
47.  The density of C. I. in gm/cmis:
’a 2.7 ab 7.8
wlc  19.3 gs/d 136
5 DM/20001-A



48.
48.

49.
49.

50.
50.

51.
51.

52.
52.

53.
53.

54.
54.

55.

55

dee gud eanry faferdsr fRam sirar &
The bolt can be specified by

da U5 & wakR /Type of thread @b &S /Length

&/c. = /Pitch dig &3 &I Y / Type of head

IS 2102 & HUR 6 mm 19 deh e el &

As per IS 2102 open tolerance up to 6 mm dimension is:
3/a + 0.1 mm d/b
&/c + 0.3 mm g/d

0.2 mm

H

0.5mm

I+

UNC T Y31 @1 &:
The full form of UNC is:

3fa  YAWES FHUeAT /Universal Coupling &/b IfAwIEs WS /Unified Fine

dlc.  FIHEs HH/Unified Corse

de g O uE oY AT/

None of the above

AABC & faU, cosb =

For AABC, cosb =

3a  AB/AC d/b AC/BC
&fc  BC/AC g/d BC/AB

U o A & e & Agcdd e §

Maximum no. of triangles in the given figure is
Ja 8 d/b 12

/e 16 s/d 20

faF 3 fg@me avEgdr 71\ T |

Give the name of screw shown in figure.

A

3dfa T §3 &Y Th/Cheese Head Cap Screw  dib ke 88 &Y &5 /

Flc  YCHLT §5 T Th

Socket Head Cap Screw

Hexagonal head Cap Screw 3/d C'sk &3 p/ C'sk Head Screw

fT & @ aiv gié &1 gt gRew | p=10 gm/cm’. (n=22/7)
Find the weight of the part shown in figure. p=10 gm/cm?®,
(n=22/7)

g Wl 7T mm F R A |

Note: All dimensions are in mm.

Ha 3732 gm &b 373200 gm

Flc 37320 gm 2/d 373.2 gm

©28
V4

2 2]

e TR MY Téa #, gra AR uv 20 & § 3T 600 rpm WX | 60 gidarel f3de iR

s gfen |

In a simple spur gear drive, the speed of driver gear having 30 teeth is 600 rpm. Find the

speed of driven gear having 60 teeth.
3/fa 200 rpm g/b 12000 rpm
&ic 600 rpm s/d 20 rpm

DM/20001-A




56.
56.

57.
57.

58.

58.

59

59.

60.
60.

61.
61.

62.
62.

63.
63.

64.
64.

Tmx1md@&radicd T 25 mm x 25 mm & fhds dieR (IRA) FwIE ST b & ?

How many squares of 25 mm x 25 mm can be cut from 1 m x 1 m sheet?

H/a 625 d/b 160

&/c 1600 g/d 40

fory & @ a3 R @ man (ofan) R | //
Find the area of the shape shown in figure. é*ﬁl 60
e @l admmdA QU aw § |Note:All dimensions are in mm. 30‘

al3aT 4500 mm? b 2250 mm? ;

Flc 3000 mm? gd 1500 mm? 50

U do¢ géa 7 100 mm <A & gigax Jell 1400 rpm O G @1 & | AR f3aa gelr 1400 rpm
T HA @ § Al 3 A iU |

In open belt drive, the driver pulley of 100 mm is rotating with 1400 rpm. Find the diameter of
driven pulley If it is rotating with 1400 rpm then.
3Hla 200 mm d/b 100 mm
Cale 1400 mm s/d 140 mm

T 7 REr’ 7 3R #T gRAT gfeT | (n=22/7)

Find the perimeter of the shape shown in figure. (n=22/7)

o= g Aramma U 1T § |Note:All dimensions are in mm. 50
Ha 170 mm d/b 100 mm

&/c 390 mm s/d 280 mm

70

afe I et &7 A 60 . 80 %, 9¢ I-AT dF foheel % ﬁraa’l‘%ﬁgé?

If the prize of an item is increased to Rs 80 from Rs. 60, the % increase is?
Ia 333 % g/b 25 %

&ic 20 % 3/d 30 %

1000 ¥ WX 6% cIIST ¥ W 3 Wil & oI |¥er =A1al &7 &hA greiT ?

The simple interest for the amount of Rs.1000 at 6% rate for 3 years is:
3a  Rs. 60 d/b Rs. 120

#/c  Rs. 180 dis Rs. 240

Ig &L A F HET wA ST Gehel §

We can reduce the fire by removing

a 3N/ Oxygen g/b  ZSHI/Heat.

Hlc U ffuel g/d e A F5 M/ Anyof above

6 cm, 8 cm 3 10 cm Sisfdrel $reenoT feblel T A §

Area of right angle triangle having sides 6 cm, 8 cm and 10 cm is
dla 24 cm? @b 40 cm?

c/& 30 cm? s/d 7.5 cm?

g ggfd # 1 #Hed & Jual @

The equivalent of 1 meter in the inch system is
3dfa 3937 d/b 36”
Col s/d 37.39”

i DM/20001-A



65.  AfX 120 mm PCD uW¥ 6 ¢ (Flef) fRd 710 § o & ud¥y (IRT-IrT &) 8¢ & &l &l 3R &T
gIam?

65. If 6 holes are drilled on PCD of 120 mm, what will be the centre distance between two
adjacent (nearest) holes?
3/a 30 mm &/b 60 mm
&/c. 120 mm g/d 240 mm

66. 6 aotel 9T B A oI ¥S N 9 g3 & i v Aor §

66. The angle beween small hand and big hand at 6.00 hours is
ta 90° a/b 180°
Flc  60° s/d 360°

weer 67 @ 70 & R, RF 1 & @ @ whad & a¥ F 3eaw ffow

From Question 67 to 70, Answer for the given symbol:

67. ThE WA faffe . GRIND
67.  Surface roughness limit /3.5(15) )
sfa 12 um b 15 um i
Flc 2.5 mm s/d 3.5 mm 25 \/ = _
T
68. Qg e Al
68. Sampling length gl 67 T 70 & Oy BT 1
3a 12 pm db 15 pm Fig. 1 for Q. 67 to 70
&ic 2.5 mm s/d 3.5 mm

69. AMAT 33T

69. Machining allowance
3la 12 pm /b 15 pm
@/c 2.5 mm s/d 3.5 mm

70. 2™ wwaw faffe
70. 2" Roughness limit

3H/a 12 um da/b 15 um
&/c 2.5 mm s/d 3.5 mm

geeT 71 @ 80 & A, R 2 & Rae 1 sidfRs aeifle aFa & 98 a5 garn:

From Question 71 to 80, match the parts from the fig. 2 of Geometric Characteristic Symbols.

71, HieT ar Fe At g wr g2

7. Which no. represents Cylindricity?
Fa E d/b H
#lc C g/d D

72. @i @7 At diforae (FRafa) gob w@r g2

72. Which no. represents Position?
3Ha  H d/b H
Eale I 5/d A
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73.
73.

74.
74.

75.
75.

76.
76.

77.
7.

78.
78.

79.
79.

80.
80.

A ey AR (RS gaf @ &2
Which no. represents Symmetry?
da G a/b I

Hic J 3/d D

i AT FaR Qe & 13T &2 @I 672
Which no. represents Total run out?
FHa | d/b H
&wHc D 5/d J

Fle AT dGR MeTS (W35AT) g2 @ 82

Which no. represents Roundness (circularity)?
da A d/b c

@/fc C 3/d D

Hle 1 Fa Pofar (Tergenfid) gt T 87
Which no. represents Angularity?

Ha A /b G

Hlc C 3/d D

FleT W A 55 NFSer (NHEel N ) g2l T §?

Which no. represents Profile of surface?

Ha A d/b E
@wc C s/d D
FleT AT FAeY TTT T @I 87
Which no. represents Straightness?
Ja A g/b A
&fc C 3/d D

et @1 HaR Focll (ROFSIATRe)) e T 82
Which no. represents Perpendicularity?

Ha A /b G

#Hc C g/d D

FeT T AR FATAAT (Forear) gl @1 82
Which no. represents Flatness?
Jla A d/b B
@fc C 5/d D

N
B | /.
c ()

D | LY
E | L

F el

G L

H P

' -
Ry

g9sf 71 ¥ 80 & ol a7 2
Fig. 2 for Q- 71 to 80

wesT 81 ¥ 90 ¥ fad), Ay 3 & Rywmw ¥ AREH & IUAF THa F we 5 T
From Question 81 to 90, match the parts from the fig. 3 of Elementary Welding Symbols.

81.
81.

Hlear Fex T I58 gl T 87
Which no. represents Spot weld?
a J d/b |
&lc F s/d D

DM/20001-A




82. il U1 A« [t J 9¢ des g2l @r g7
82. Which no. represents Single J butt weld?
Jda  J /b I
&hic F s/d D
83.  @iel W e TR IC des g2l W@ 8?2
83. Which no. represents Square butt weld?
3/a J d/b I
&hic F 3/d D
84. i I FAaY oIl Jo3 2T W@l 87
84. Which no. represents Plug weld?
Ja J /b H
&hic F g/d D
85.  @lal T AaX e 99 9¢ des gl T 87
85. Which no. represents Single bevel butt weld?
3/a E d/b B
Fc  C 5/d D
86.  @iAdT Aax fhole dos g2 W@ 87
86. Which no. represents Fillet weld?
Jda G d/b E
Ele D 3/d B
87. @i &1 A WH des ol @1 &7
87. Which no. represents Seam weld?
3/a D d/b A
&ic H 3/d J
88. @i @1 dAa¥ fHeT U 9¢ dos gel T 872
88. Which no. represents Single U butt weld?
3/a B d/b &
wlc E gd D
89.  @isT I AR fHorer V 9T des gl w@r §?
89. Which no. represents Single V butt weld?
Ja G /b C
&ic B g/d D
90. @l @1 e fdFar deg gl wWr g7
90. Which no. represents Baking weld?
3/a I d/b F
&fc  J 3/d D
I wTd
quy &1 IS8 H 3T 6w & ol AT FHhd ¢ |
Rough Work

You can use the side space of paper for rough work.

10

m | o | Q| m| P
”. t ;

W
;)

F U

G BN

H [

gl 81 & 90 & folr [ 3
Fig. 3 for Q-81 to 90
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